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HE/E HE/E
71 x3 =2 718 ks =l
N2 302,350 291,200 (11,150) N&A 302,350 291,200 (11,150)
[ =F]] 255,135 244,240 (10,895)f AFSH] 223,781 212,636 (11,145)
N = 197,695 186,800 (10,895)|[ 1)QIAH] / 20 139,123 129,073 (10,050)
g ExZ 21,000 21,000 0 / M= 31,751 30,440 (1,311)
3)A| A EHH| S X H 1,440 1,440 0 / E|RAEF 11,553 13,219 1,666
AHAIUH| B X2 30,000 30,000 0 == 17,108 15,971 (1,137)
57|EtEZxF 5,000 5,000 0 / 7|Et= M ZH| 1,160 1,097 (63)
Heaxd 10,000 10,000 0| 2g=sus/71zedgy 2,400 2,100 (300)
LHEINMAUT 10,000 10,000 0 / 3|o/H| 900 900 0
SF 4 17,740 17,740 0| 3)2%H| / o 0 0 0
DX HSdZ49 12,000 12,000 0 / +8HUS5E 11,648 11,417 (231)
QH XY A4 5,740 5,740 0 / 3383 5,675 4,856 (819)
olda 19,440 19,191 (249) / ®HM 22 1,253 1,253 0
DHEEzSAZo|YS 5,712 5,712 0 / KF2HH| 400 500 100
QExZo|d2 0 1 1 / elZH| 0 1,000 1,000
YU YFOlEF 12,572 12,322 (250) / 7| EFR EH| 810 810 0
3)FAET|Eto| 3 1,156 1,156 0 XHAtZ=AMH] 7,440 7,440 0
=4 35 29 ®)f VRS 3,000 3,000 0
Do 5 Ol xt==¢ 35 29 O) DAIEHHIRXH| 4,440 4,440 0
AL iH| 41,486 41,486 0
1)7| A | / HEASZH| 300 300 0
/ A2l A AH| 35,700 35,700 0
/ REREALS ALY A 340 340 0
/ XY SR HS ALY A 5,146 5,146 0
BAstS A | 5,000 5,000 0
LHEYSSAIE | 5,000 5,000 0
S AALAH]| 23,452 23,452 0
DA E = AAIE | 12,228 12,228 0
2)H| K| &S QAP ZH| 11,224 11,224 0
EHXE 1,190 1,184 (6)
DEXE 1,190 1,184 (6)
gtet= 0 1 1
1)dtet= 0 1 1
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